INTRODUCTORY PROBLEM.    [image: image1.wmf]+

 

 

 

a

a

xb

b

x

yy

-

-

      
SOLUTION:  Notice that there are NO common factors, it is NOT a trinomial, and it is NOT  the difference of  squares or sum/difference of cubes!   The only thing left to do is to try grouping the first two terms and the last two terms, and hope you get a common factor.   
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Notice that you DO have a common factor [image: image4.wmf]()
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SOLUTION:  Notice that there are NO common factors, it is NOT a trinomial, and it is NOT  the difference of two squares!   The only thing left to do is to try a grouping of the first two terms and the last two terms, and hope you get a common factor.          
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Notice that you DO have a common factor [image: image10.wmf](5)
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SOLUTION:  Notice that there are NO common factors, it is NOT a trinomial, and it is NOT  the difference of two squares!  Group the first two terms and the last two terms, and make sure that you get a common factor! 
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Notice that you DO have a common factor [image: image16.wmf](5)
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Now, you have a difference of two squares, which factors again!
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  Final answer!!
 

 
16.    [image: image20.wmf]32

46

9

3

xx

x

-+

-

      
 
SOLUTION:  Notice that there are NO common factors, it is NOT a trinomial, and it is NOT  the difference of two squares!  Group the first two terms and the last two terms, and make sure that you get a common factor! 
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Notice that you DO have a common factor [image: image23.wmf](9)
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Now, you have a difference of two squares, which factors again!
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  Final answer!!
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The first step is to recognize that this is a trinomial.  Can you see that it is in three parts?
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The FIRST times FIRST must be[image: image29.wmf]()
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 , the LAST times LAST must be 60, and the OUTER times OUTER and INNER times INNER must add up to [image: image30.wmf]()
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 .  You must find two numbers whose product is 60 and whose sum is 16.
 The FIRST times FIRST must be[image: image32.wmf]()
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 Next, find two numbers whose product is 60 and whose sum is 16.  That would be 10 and 6:           
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 This can be “cleaned up” to make it look like the product of two regular trinomials,
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 and as “chance” would have it, these trinomials each can be factored!!
                       [image: image36.wmf]()  ( )   (

5261

)  ()

xxxx

----

  Final Answer!!
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 The first step is to recognize that this is a difference of two squares!                   
 The FIRST times FIRST must be[image: image38.wmf]()
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 This can be “cleaned up” to make it look like the product of two regular trinomials,
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 and as “chance” would have it, these trinomials each can be factored!!
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   Final Answer!!
 

45.       x2 + 2xy + y2   +   7x + 7y   + 10  
Group the first three terms, the next two, and keep the last term separate.  This begins to look like a trinomial!                
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Find two numbers whose product is 10 and whose sum is 7.
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This cleans up to give you this for the final answer:
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48.                      [image: image49.wmf]22
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First notice that, because of the number of terms involved here, this must be a grouping problem.  Did you notice that the first three terms look good together?   It turns out that these first three terms form a perfect square trinomial.  Then try grouping the next two terms together from which you can factor out a common factor of 3.  The last term stays by itself.  Putting this into grouping by color may help you see it better:
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Rewrite it in this form
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and recognize that this is a trinomial.  Can you see that it is in three parts?
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The FIRST times FIRST must be[image: image53.wmf]()
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,  you must find two numbers whose product is 2 and whose sum is 3.
The FIRST times FIRST must be[image: image56.wmf]()
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Next, find two numbers whose product is 2 and whose sum is 3.  That would be 2 and 1:      
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This can be “cleaned up” to make it look like the product of two regular trinomials,
                                  [image: image59.wmf](

)

(

)

2

2      2     

1

+

 

  

+

xyxy

--


 

From College Algebra:        [image: image60.wmf]3
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The first step is to recognize that this is a trinomial.  Can you see that it is in three parts?
The FIRST times FIRST must be[image: image61.wmf]6
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Next, find two numbers whose product is 8 and whose sum is −9.  That would be −8 and −1: 
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Each of these factors represent the difference of cubes, which can be factored using the formula:  [image: image67.wmf](
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These trinomials CANNOT be factored, so this is your final answer!!
    
From College Algebra:        [image: image73.wmf]6
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The first step is to recognize that this is a difference of two squares!                 
The FIRST times FIRST must be[image: image74.wmf]6
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 , the LAST times LAST is the perfect square 64 which is 8 times 8,  and MIDDLE TERM must subtract out!
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Each of these factors represent the difference or sum of cubes, which can be factored using the formulas:  [image: image79.wmf](
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These trinomials CANNOT be factored, so this is your final answer!!
